| C 2 PRl U e ) 2019/02/10 54

FIREECOAF/NL—HR—IILREBREBBERBFAE

THAVIRER N\ oT7HIYVIED) I\ DTGy IRER
. + . = +
& 3 i " % R I8 N i @ % R
= F—L% E - F—L% E
o 5| & = = E i gL = - = z
178K 4% 4 13 357 186 34 52.1 1[oKR4% 4 13 48 23 9 47.9
2|STO44 4 13 411 180 50 43.8 2|sTO44 4 13 42 15 10 35.7
J|EHITEXRE 4 13 397 147 24 37.0 3 [RBRA R 3 12 39 12 5 30.8
4lLvbEEBlueWave 3 10 301 109 35 36.2 4 |BHITEXRE 4 13 21 6 3 28.6
5 |3¥7 /L ZFour Seasons 4 14 416 144 40 34.6 5 [3:¥7 )L SFour Seasons 4 14 42 10 10 23.8
6 |xmRA = 3 | 12 | 401 136 47 33.9 6 [NTTE B A KR 4 | 15 28 6 4 21.4
7 NTTE B A KR 4 | 15| 485 156 47 32.2 7|lvhEEB I uewave| 3 | 10 19 2 8 10.5
TRYTREE (%) =FBR-TH*x100 NYTTRYTRER (%) =BT x 100
T IRTEREL (Fa&0) JOvVIREARE (Ty )
. +
# | = 72 x| 2 # | & p. Y
I PN Y *T =] E IE PN Y
E_L 7'—-/-\% = S g{ E -~ v * E_L ?—A% (=] S &5 \|“
1101K% 4 13 357 52.1 163 23 186 1|STO44 4 13 33 2.54
2|SsTO4 4 4 13 411 43.8 165 15 180 ALK ¥ 4 13 32 2.46
3 [NTTEE B A KB 4 15 485 32.2 150 6 156 3 [NTTEE B A KR 4 15 28 1.87
4 [EHITEXRE 4 13 397 37.0 141 6 147 4 |®*E7 )L =Four Seasons 4 14 18 1.29
5 |®# 7 /L 2Four Seasons 4 14 416 34.6 134 10 144 5 | KBRA R 3 12 15 1.25
6 | KBRA R 3 12 401 33.9 124 12 136 6 [BHIEXXE 4 13 16 1.23
TlLvhEEBlueWave 3 10 301 36.2 107 2 109 T{LWwbhEEBlueWave 3 10 8 0.80
1Ty bHEYDTOVIRERE (X) =BE-HEtEY M
H—JRRE H—-TL>—TkIhE
- + < + B B
[ N " » | % 2 B 2l lzg|w|» 2
m F—L% N 7 4 g = L] W F—LEZ =) 4 5 . . B |
" * B g # | & ®
1|o x4 4 (13 |31a] 25 [102] 25 | 141 1|5 %% 4 | 13| 181 | 86 | 58 | 37 63.5
2 |®# 7L 2Four Seasons 4 14 292 23 61 18 11.6 2 [BHIEXE 4 13 257 | 109 64 84 54.9
3|sTO44 4 13 304 17 94 27 1.1 J|LvhEEBlueWave 3 10 213 86 59 68 54.2
4 |1BHIEXRE 4 13 280 17 93 51 9.8 4 | KBRA R 3 12 244 83 70 91 48.4
4lLvhEEBlueWave 3 10 186 15 53 40 9.8 5 |E# 7 )L ZFour Seasons 4 14 265 90 73 102 47.7
6 | KA R 3 12 226 9 73 21 9.7 6(STO44 4 13 239 18 57 104 44.6
7 INTTEE B A KB 4 15 320 13 92 33 8.7 7 [NTTEE B A KB 4 15 270 80 12 118 43.0
H—THMBER (%) = H—ERXI—Z x100+%8E x 26—k H x25) —iTH Y—TLI—TRUE (%) = (BIH[E] x100+mIh [R] x50) T4

REEDEFERD. ARTHENEBANL—TR—LBECRELET .



